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SECOND YEAR HIGHER SECONDARY MODEL EXAMINATION, 
FEBRUARY 2019 

Part- III 
ECONOMICS 

Maximum : 80 Scores 

General Instructions to Candidates: 

Time : 2½ Hours 
Cool-off Time: 15 Minutes 

• There is a 'Cool off time' of 15 minutes in addition to the writing time of 2½ hrs. 
• You are not allowed to write your answers nor to discuss anything with others during 

the 'cool off time '. 
• Use the 'Cool off time' to get familiar with questions and to plan your answers. 

• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the same 

question itself. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non programmable calculators are not allowed in the 

Examination Hall. 

o.ntaJoclma1•cJ6M>ffltl &>n.Jocm6m1i6a~cn,macJ6: 
• mlm§ln!!s 2 ½ mEiTTSlcOOJ«l CTUC1l<DJmID1m ~06)(1} 15 m1ml§ 'c:0.>JcJIJ 630n0 6)6)S0' ~6rSOa»lmlc0030. 

• ~ro CTUCD<DJ<m'm <Z.!l.lOC3Jrn3UllcB6) ~mIDa>o O(j)':96®oamo, m~rua,3mo<l»l m-@C/O<DJo.flmlmwo 
msmIDoamo n.Josl~. 

• ~mIDa>rn3cJ6 O(j)':9l,®3rmcmlm ~m.r <Z.!l.JOC3Jrn3Ull @(3,l)On.JJ«l(1JO ruo<l»lc006TT)o. 

• UO <Z.!l.JOC3Jrn3cf6c0030 ~mma>o O(j)':93®6TT)o. 

• 63Cb3 <Z.!l.JOC3Jffim.J«l ~mID<06)'1l':93®0® 6)a!)(l)6)6mIDS3mID3 c:0.>':PIGmIDO<lm ~n.J<Z.!l.JOC3Jrn3gMo <Um<:® 
<Z.!l.JOC3Jffim.Jc61Clm ml rm" ®6)<Tn 6)a!)(l)6)6m'IDS3 <Zc006TTs®06ffi . 

• d,b6TT)cB6) d.bJ3eJ3d.bcJ6, .!2.Iltcmrn3cf6, lWO~c:0.>Ull, nromilru ~(m)(l)Cn.J<;tj01<lm (l5)6)ITT) ~6rSo<l»lallc006TT)o, 

• (U®C1.JC/OJ~ ml.OeJ<m'm CTUCllC1.JOd.bJrn3Ull 6)d.b0Sl,c006TT)o. 

• C.!l.l0'3Jrn3cf6 QleJ<DJOimmle!l,O mcef6d.b1a»l§36ll'i. 

• Cln.J0l(l)O~cfbcJ6 6).!l.J<ijOffiOd.bO<m> d.bOm'3cOOJCeJAOl,c:0.>Ull 63':916)d.b<DJ~ 63©J ~eJC:lctOEiTTSlca;' 

in.Jd.ba>6TT)(lJJo n.Jcol~on0o~cef6 ~n.Jacwocnlce6)6ruocm n.Josl~. 
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Score Score 
Choose the correct answer. (5x 1 =5) CJtlC01a»oa» t<m>mo 6l<m6lC06l6TDTIDSl6lCffl>'9Am>A•· 

1. The classical economic thought 
believed in 

a) Full employment 

b) Unemployment 

c) Great depression 

d) All 

2. When MC = AC of a finn, its 

a) MC is minimum 

b) AC is minimum 

c) MC rises 

d) AC rises 

3. The value of balanced budget multiplier is 

a) 0 

b) I 

c) Greater than one 

d) Less than one 

4. A consumer's budget line equation is 
I 0x

1 
+ 20x

2 
= 100. Then the slope of 

budget line is 

a) -20/10 

b) -10/20 

c) I 0/100 

d) 20/100 

5. An oligopoly market consists of 

a) Many firms 

b) Single firm 

c) A few firms 

d) None 

(5x1=5) 

1. ~m51G86>m'3 OUOmJC'Gmlc:8l .!2..Timn oJlC11>pul-4Jcm' 

a) ~«>6m6)as>O~m'3 

b) 6)cmo~~ocw 

C) QlnO<m)O(DJ m>OmJC'Gmlc:8) lll003Jo 

d) ~oo 

2. 63©6 m>oa>o@Clm!Sl@~ MC= AC (U'@)c9JJC8ffiJOOO 

a) MC mlmlmo 

b) AC mlmlmo 

c) MC rurou51G86>6nn6 
d) AC rurou51G86>6ffi)6 

3. cromw~II® 6TlJ(U)~A (/)6611)ce, ~eJJo 

a) 0 

b) 1 

C) 63mSlcef6 cihJS6®cef6 

d) 63mSlcef6 ~ooJ 

4. 63©6 ~oJ(8@0c8®0nJl@~ 6TlJ(U)~A (8ct)6l.J(DJ66)S 

m>JL® ruoce,jo 1 0x
1 
+ 20x2 = I 00 n@nn06lT>. 

am,cg~ocft> 6nJ(U)~A (ga)6l.JCDJ66)S @.!l.J<61ru ~e.Jjo 

a) -20/10 

b) -10/20 

c) 10/100 

d) 20/100 

a) wocoo~o m.>oct>o@6'mcft> 

b) n@ce, cruomo@o 

c) c:.8:l60~ crooct>o@6'mcft> 

d) @20J@(D)Offi)6~ 
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6 ~aooi6 12nJ6)(1) n(i)iP G.AJOB.)ABci&ceoAo ~ From 6-12, answer all questions. 
(7X2=14) 

6. Explain the main features of market 
economy. 

7. Show and explain the changes in market 
equilibrium price and quantity under the 
following cases. 

a) Income of the consumer increases. 

D s 
price P 

0 Q quantit 

8. Classify the following into micro and 
macro economic analysis. 
(Income of a household, the policy 
of RBI, profit of a monopoly firm, 
calculation of GDP of a nation). 

9. Describe the concept of 'liquidity trap' 
with suitable diagram. 

10. What are the two major accounts of 
balance of payments of a country ? 
Identify the accounts of balance of 
payments in which the given transaction 
1s included. "RBI sells government 
securities to foreign investors". 

11. Complete the table. 

Determinants of supply 
ltL.JBOCT><mSI~ m1«>61TXXllk.8, ne.iSdb6"GBC! 

Price of the good 
(T\)OUXT)~6)~ nllei 

Unit tax rate 

wJGmlR ml~®! ml~ 

State of technology 
cruoa~cib nll13J<W66>S mleiruoroo 

Input price 
mlcruoum~6)S nllei 

6>1nlfAm>61T>o- (7 x 2= 14) 

6. db<ICTlJO~ CTUCTlJ0Cl.lJOJ<YUOCWJ6)S crunll<JCJl>n!1(tf) 
dbcf6 nlJOJc6lcB6)Jdb. 

7. an::>6)1;9 oJOCW6cm CUTllOJ<YUOcwl<lf& db<ICTlJ~ ~ 

eflan nlleicwl~o ~nllei6o ~6Tlio~cm £DOA° 
.!l.illan~~ CTUnOOCOXm>oaf& nllruc6lcB6)6db. 

a) ~~~ ruciwromo rumu.Slc96>J~· 

D s 
price P 

0 Q quantit 

8. (tf):)6)'1 <lSX'Tnlc6lcB6)6CTOO.J6)(W CTUJ~ CTUOCTlJ 

~db COOlCW (11)06lJ~(JeJ~ Cll)(l)o cml~db. 

( 63CbJ~56o6Tl.l~OJ~, ~- 6Ylll. 6ln© 
<W66>S mcwo, ~~ ~ el08o, 63CbJ 
<OOSll!J~~ ~.ru.51.nJl. ~). 

9. lBOJanJ 6>dh60il <1ij)<m ffllP>Clb<Wo .!LJ!Lm><n>nrllano 
ru)(ll)(3(J}OcOOi\cfb. 

1 o. 63CbJ mo~~ arrosnr C/61~ ~ce,ci6 
Q@6)(tf)~ ? (tf):)6)'16)db:)56~<6l~cm ms<uos' 
ClJTOSoJ u6J~camJ6)~ Q@an°' ClJTOcB6)'06TliJ(J}Oavl 
6TlJCTW6)<;H§l<O'lcB6)J<mJ ? 11 ffllP)cb. m.fl. 6)Cl(j), 
crumcB6)om-6)CTl)c£bJlc61A1ce,ci6 nllceClb ml<Jdb!joJ 
db~ nl}af&cB6}6<m6." 

11. oJ~cib ~m~wOcOOi\cib-

Relation to supply (positive/negative) 

lC'L..IBOCY>O.J.tmoa»~ 6Tl.lmJJo 

( Gn.Joou18lnI/ ~nJ) 
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12. Comple 
firm. 

s 
te the table of a monopoly 

Q 1 

MR 10 

Elasticity 
~eiocwJce,® -
=l,>l,<l 

core 

2 3 
6 2 

- -

From 13-19, answer any 6 questions. 
(6X3=18) 

13. Analyse the important features of a 
perfect competitive finn. 

14. Differentiate flexible and fixed exchange 
rate systems. 

15. Consumers optimal choice can be 
located graphically with the help of 
indifference curves and the budget line 
of the consumer. 
a) What is consumer's optimal choice? 
b) List out the necessary conditions 

needed for optimal choice in the 
graph. 
Condition 1 : ------
Condition 2 : ------

16. Explain reasons and different types of 
the central economic problems of an 
economy. 

17. Please help Hima to prepare a chart 
needed for her seminar paper 'Monetary 
Policy Instruments'. 

I llllllll lllll 111111111111111111111 

12. 63~~~ 
mlc006nn6. ~&mew 

4 5 6 7 8 9 

2 2 0 0 0 -5 

- - - - - -

13 ~cm~ 19 OJ6)(t) n@6>aDll,1~o 6 ~..a.JOBJOBc/6..-i' 
ti<UmCD6l1211f~(U)~6. ( 6X3=18) 
13. n.Jml~&6Tn m~crum cruoCllo@m6)~ tcwacmJah® 

rB)cib ®?>n.J t(f)Ldle,006ce,. 

14. ®?>CW~ rulmlmcw mlmc0060 crurllm rulmlmcw 
ml~o ClJJ® JOCTU6KJ:JS6Clfm6cih. 

15. ~n.Ja<so~onJ16)~ 6TlJMg;QA a<06lJCW66)SQ2160 

ml CTUab®O ru lcihM 6)~cw6o cruo.nocwmmocd& 
L(f)Oruflcef& ~n.Ja@o~onfl6)~ 63n.1'Almcd& 
O..o..J0~6)ffi cB,6)6fTs~rm<m06m. 
a) nffimn06m ~n.Ja@oc:&®ooJl6)~ 63nlAJmcef& 

<'6.!l.JO~? 

b) L(f)On.dl~ 63cJ'A]m~ <t.!l.l~m ctJ®(}JCR>JOlO(DJ 

ml6rum.umrJ3)cJb cru~<Jc006a➔.,. 

Condition I : ------
Condition 2 : ------

16. 63Cll6 crumJBruJrucruocw66)s eu0slcruoom cruomJ 
cirm1 rJ3) L nJ ~ 6llT3 fil o ce, om 6Tn 61JY3 ~ o n.11 ru 
c6l c.006 cB:,. 

17. 1 mo 6Tn J m (U) ~ n.J o w1 ce, cJb ' a© rm nJl ~ 
(U) 6) cm> Rf@) cm (3 m O c.001 (U) 6 ~ 6) (TU m1 m Om 

<Xn.J<;cjolm' ~n.JcJ(U)OcrilcOOOOJJ<Tn 63ctl6 ..a.JO©§ 
®~oooc006 ruocro nrllm6)(U) cruo.0ocwlc006a➔.,. 

Monetary policy instruments Reduce money supply Increase money supply 
ffi06TT) J ffi(U) ~n.J O uJl ce,cfb n.J6ffiln.JBOmo ~Oi>Jcih n.J6Tntn.Jeomo rumat51~c006a➔., 

Bank rate 
6U!Oab <EOA ----------- -----------

Cash reserve ratio 
rB)ct,6®~ wmom6cuo®o -- --
Open market operations 

n.JctlCTU,\ cB,(3ffiJ0~ Ln.JOJ(l)cm)ffi6l!T3CIO ----------- --
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Score 
18. Correctly rearrange the equations of 

measures of deficit in the budget. 
a) Revenue deficit = fiscal deficit -

interest payments 
b) Fiscal deficit = revenue expenditure -

revenue receipts 
c) Primary deficit = total expenditure -

(revenue receipts+ non debt creating 
capital receipts) 

19. Distinguish between value of output 
and value added. 

From 20-23, answer any 3 questions. 
(3x4=12) 

20. In an economy, marginal propensity 
to consume (mpc) = 0.5 and marginal 
propensity to import (mpm) = 0.05. 

a) Calculate closed and open economy 
multipliers. 

b) Compare the result. 

c) What is the effect on income of the 
economy when there is an increase 
of Rs. 250 crores in exports of the 
economy? 

21. Explain the profit maximization of 
a monopoly firm with the help of a 
figure. 

(Hint - Use positive cost analysis with 
average and marginal curves) 

22. Describe the major sources of money 
supply in our country. Classify them as 
narrow money broad money and real 
aggregate monetary resources of our 
country. 

23. Examine the limitations of GDP as a 
measure of social welfare. 

Score 
18. mJM"s;iA" wm'86>am1 CBll>~'86>6ruom6~ 

m>1W~OJOtEbJ611136l~ Clll<01avo<nfl ltEbCD,db<01 
ce6)6tEb. 

a) orum~ a➔.,aml = wma➔.,aml - nJeflcn,wsnJ 

b) wmc&v)am1 = orum~ 6l.!2..1eJnl - orum~ 
~BOClVo 

c) lnJ o ILl ml c&.> c&.> am1 = 6lCDOcm>o 6).!2..1 eJ nJ -
( orum~ ~Boavo + a➔.,sai~omm ~e.iwm 
~BOClVo) 

19. ~cm ~eJjru6o ~eJjo db~<l.!l.l©<ffl>®6o C!Daml 

eJ6~ nJj®jOm>o n@l96C!D6db. 

20 ~mm& 23 OJ6')(0 Cl636'>(!1)8hleJAo 3 G.AJOBJABci6 

M>~Cffl>C06'>m.,6m66. (3 x4= 12) 

20. s<06 crucruBrujrum.>.omJlarn crulmocm ~nJ<:<iooo 
lnJOJ6m® (n@o. nJl. mSl.) 0.5 ~o crulmocm 
~Oc&6)6m®1 lnJnJ6m® (mpm) 0.05 ~o 
C!r!'Q)6TT>. 

a) ®!lS6rm) m>mJB rujrum.>.o<ll516'>e.iav6o ®60<m 
ffi)mJ (3 nJjnJ CTU.OCDJ16)eJ(l2'6o CJ)66TT)d➔.)61113cil) 

ci➔.):)6TT)6ci➔.)' 

b) olcrucib§16lm ®O<O®aljo 6)..!l.J~db. 

c) crucruB rujrum.i.owlarn d➔.)W~mcmJ<ll51arn 250 
ac&.>osl <OJnJClV66)S ClJ©B.l)ffiClJ66180<lVO<lrn 
crucrusrujrucrunm,66)SOJ'°6~arn ~ 
QlOA~6Tl30~6)Ql(TT) ci➔.)6TT)~d➔.>. 

21. 63~ ~<ffl>c&.> m>o<Oo@cmSl6l1 e.ioso nJ<Omoruu.Sl 
ClVOc&6)6 cm® n@rn3l 6lm6lavcm .!2.lllC!Dm>nnlC!Do 
nJ1 ru ml c&6)6c&.>. 

( m>J.!2.Jm : Clllm::>Clllml crulmocm OJldb61113cib 
~n.Jaavocnlc&6)6a➔.,.) 

22. m~6ls CllOS'cljmrn nJ6mlnJoocncmS16'>1 nllnllw 

~rul~cfh. CBll)C1J6)(l2'~~ 

nJ6mo, nllC/llOeJ nJ6mo, (12'1.00«>(l!ll) 6)QlO(m)o nJ6TT) 

<llm>~ n@cml611136lm aooiocmlc61c66)6db. 

23. ~- cu5I .nJl. m>O~nDj C8dMjlilcuml~ CBll>~~ 

atE»oe.ioc&.>6cmcmlm~ n.Jc6lm1cmla➔.,cib n.Jrol 

<I ClllOu.Sl '86)6db. 
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Score 
From 24-27, answer any 3 questions. 

(3x5=15) 

24. There are three methods of measurement 
of GDP of a nation. 
a) Calculate GDPmp, GNPmp and 

NNPfc using the data given. 

111111111111111111111111111 im 1111 

Score 
24 m.lcmcd 27 OJ6>Cl> 063Qcm8h18Jlo 3 ~.AJOBJ61n1<m 

M>A<aTD>C1>6>1DlfAa,)A6, (3 X 5= 15) 

24. 63(06 <OO~JcmS16l~ erJ'l.cuSl.n.Jl. c&.,06rTWmmSlm 
~(YT)6 moro(l)61Sl300 ~6Tli. 
a) m>cmlc6lcB6)6<m CU>Ofi ~awocnl.gJGDPmp, 

GNPmp, NNPfc omnnlru ca,o6m6cib 

Household consumption expenditure 
1800 crores 

(l)O«lnrlldh ~n.J<:@0(1) 6)..!l.JeJoJ 

Private investment expenditure 
1100 crores 

CTU.JcfbO<O,\ ml<:dM:ln.J 6)..!l.JeJoJ 

Government expenditure 
900 crores 

crurocB6)oro 6).!l.Jeiru 

Exports ca,w~maiil 800 crores 
Imports fil?Oc&6)J,maiil 600 crores 

Depreciation am>cwomo 150 crores 

Net indirect tax (Gll}A n.Jcmocfb3:I mldhl,aiil 125 crores 

Net factor income from abroad 
100 crores 

oJl<JBClbcm> ml<m.1.§3§3 <m'0AoeJSdh ru<O).momo 

b) Which is the method used here to 
calculate GDP ? 

25. A competitive firm's revenue and cost 

schedule is given. The market price of 

each unit of the good is rupees 5/-. 

a) Complete the table. 

b) Draw TR, AR, Price line and MR curve 

of the firm on the same set of axis. 

Q Price TR 
0 

1 

2 

3 
4 

5 

6 

AR 

b) GD p c&.,6mcB6)0cB6)0® Clfil® 6)ffiQ~CW06TT> 

iQrul6ls ~n.JawoCJ5141an ? 

25. 63C?>6 n.Jml~ro6m m~crum c&.iam.Jo~cmS16lei 

MR 

63C?>6 cruomo'8mufl6l~ rum6momru6o 
6>..!l.leJ~o c&.io6mlcB6)6<m nJ~c&.i cmcmlml~""l­
cruowmcmSl6l~ c&.iam.Jo~ oJlei 5 ~n.Jwo6Trl'. 

a) n.J~c&.i ~rocmSICQJocB6)6c&.i. 

b) mm ~6lcm> C'G'©>~mOcOOl m>O(l)o(8cmSI~ 
TR, AR, 6l6lln.JCTU 6)6)eJm6o MR rutc&.i~o 
rum i)Jc&.i. 

TC Profit 

5 
7 
10 
12 

15 
23 
33 
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26. Describe the important components of 

budget. 

27. Suppose the market equilibrium 
price of sugar is rupees 45/kg. The 
government fixes its price as rupees 35/kg. 
Explain the policy of government and 
its impacts in the market with suitable 
diagram. 

From 28-30, answer any 2 questions. 
(2x8=16) 

28. a) Describe the concept of price 
elasticity of demand and the types 
of price elasticity. 

b) Find price elasticity of demand for 
rice and wheat. 

Rice Wheat 

Price Demand Price Demand 

45/kg 

35/kg 

120 kg 
100 kg 

35/kg 

25/kg 

c) Compare the result. 

100 kg 

50 kg 

29. Mr. Yedhukrishna produces paddy 
in his piece of land. The production 
function schedule is given below. 

Labour 1 2 
Machines 1 1 

TP IO 22 
AP . .. 

MP - -

a) Complete the schedule. 

b) Explain the production function 
used here. 

c) Draw TP, AP and MP curves on 
the same set of axis. 

d) Explain the relations ofTP, AP and 
MP curves. 

3 
1 

36 

-
.. 

Score 
26. 6T1Joo~A16K~ tn.Jwom6'~§ neJSd:h6m6'~ 

nn ~~ ce,<61 ~3ce,. 

2 7, nJ 6m.J m.>O mCQJ 6 6l S cBJQ m..J 0§ m.> mn6e11 cm nfl eJ 
ce,1ae.Jo~ 45 l?>Jn.JCQJ06m. rru&~oro mo~6'~ 
nJleJ ce,1ae.Jo~ 3 5 l?>Jn.JCQJocml mlU!lJcml~6cm6. 
m.>©~01?>16'~ ~2"0 ffiCQJo cBJQm..JO~(m)1 
eJ66T"lso~6cm m'@neJOcmo .!Llltcm m.>nrllcmo 

nflrua51~6ce,. 

28 12>6<m~ 30 nJ6)© 0636>m>Hh1eJ6o 2 Q!..!l..JOl'3J6U13c! 

d)6)6Clm!)C06)Ql'9J<mldh (2 x8=16) 

2 8. a) CZ.!l.J oemrnm! 6)~ oJl eJ ~ e.1ocwJce,cm m'@~ 
m,ru6 o am mSl 6)~ cmom6llB 6)~ c:0:i6ol .. 9d)p 
o..ll ~B QlOd¾) 6 c0:i • 

b) ama51CQJ66)sm,6o czwocmmJl6)~<DJ6o CZ.!l.JOBm 

rnm]6)~ nfleJ g'QeJOcwld➔.iCID c0:i06TD.!,c:0:i, 

Rice Wheat 

Price Demand Price Demand 

45/kg 

35/kg 

120 kg 

100 kg 

35/kg 

25/kg 

100 kg 
50 kg 

29. 6)CQJB.!, ~oi16TD<m <GmCQJ0~6)S CTl)Jm)o ~Jeni 
wl~ 6>m~ ~cefonJo~~~6cm6. ~oem w&m 
o.JglcBJ cmo6>~ cmrrrSl c61~6cm6. 

4 
1 

48 
.. 

-

5 6 7 8 

I 1 I 1 

55 60 60 56 

-
-

- .. -
.. - .. 

a) n.J§lc&.i ~ml<;Hlc:S6)6c&.i. 

b) il2nl16lS @n.JCBCQJOcnl41 Al@!OGm wcbmo 
o..llnJmlce6)66. 

c) 63<Bm Clffl)r.fh9:16lCDm qcru'n.JGmoc86Sl TP, 
AP, MP nmmilru rum~c&.i. 

d) TP, AP, MP ng)mil C'l.Jlc&.i6'0l3cib aDcmSl 
~ 6Yllm.u6'013cib rulruml'96'6c&.i, 
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30. The figure given below represents the 
determination of equilibrium of national 
income of a country. 

? 

? 

V national income 

a) Identify the curves. 
b) Explain the determination of 

equilibrium of national income 
using the figure. 

c) Measure the level of ex-ante 
aggregate demand when 
autonomous expenditure (A) is 
50 crores, mps = 0.2 and level of 
income is 4000 crores. 

d) State whether the economy is in 
equilibrium or not. Give reasons. 

111111111 UII YW Ill m11m 1111 

Score 
30. ~ru6ls cmmSlc61C".K>6cm ~tcmo 63m6 m:,~J6l(ffl) 

cru crm6 ell cm <11:1 (/l), (DJ ru m6 m:, m 6> cm, cru ~..a.Jl 
~cfflJ<mJ. 

? 

? 

V national income 

a) C'lJlabm36li cmlc61..q,Jdl(ll)6c&J. 

b) ~l<mo ~aarocnl..gJ' ~an nJ'°6Ql:)(l)o 
c&J:,6TT)J<m n.llwo n.llruc6lcffl6c&J. 

C) 63:)CJ§:}ffiQ)(Tl) 6).!l.Je.JnJ' 50 <Jc£b:)S] '°-&n.J(ll)Jo, 
mps = 0.2 ~, ru'°6m:,mmle.iru:)(t)o4000 
~:,sl mJnJ(ll)Jo (UlP)OOl)!bJ~ (alP)(TI)Atmilan 
6)Ql:)(ffl)o (J.!l.J:)(3ffio c&J:,6TT)Jc&J. 

d) crucrua ruJrucruo nucrm6ellcm:,rucruo<ml 
e.J:)(16TT):) CIJ0~(1(ll):) n(j)CTnJ n.Joo»Jc&J. 
c&J:)(t)QT)611B~ n.llruc6lc66)Jc&J. 

SME 35 Economics 8/8 


